Today we learned about finding possible rational roots. Where the P’s are the constant term and the Q’s are the
leading coefficient of the polynomial. Below are the notes we took in class and the homework assignment.

Possible Rational Roots:

P: facds of the Cosbat Tum 61,336

Q: Fackos of +he lediny coefficene 32 1. 3

+ P e ) g’l So teftoeT g’-:.,«'\ & ]t
- & 2 - s ov?

T q )) 3 o / z / 5’} 6

If your calculator does not give you a
head start, you must find the possible
rational roots.

f(x) = 4x® - 3x?+ 4x -3
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Type the possible rational roots into the
table of your calculator. If the possible
rational root gives you a 0 for the y value,
then that number is one of your roots.
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